Tuesday, December 1, 2015 4:07 PM

1
1 Let neZ . Prove that there is an infeger ™ such that
@ diz’rl:s ® moare ether o0 or 1.

® n [m.
(Hist . Consider the remainders Cor—rCg ot 144, .. 111
n+1

divieled loé n. So Iy, _..)r;\fieio,i,...,n-i},
“N—

“|> t'acons ?c‘ﬁeonholcs
U.S\'na ‘Pfgea“}‘”‘e deduce 3 1<K a <n+d -
11 = 4.4
AN~

T
J o)
2. Prove that there are irrpl‘nflﬁel\j many primes o2 the form I k-1

Por  some inteqer k.
CHint . Sugpose % the conbimry Fhere ore only -?in‘rke/\xg mand
ok v 2,1, L WS
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b) Use r?o\r'{: (ay Pid the remainder oF
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13
Ba=1 ? Jush'l?a Jour ansoe .

Xezo 1,2,.,113 such Hwt
2'x Z4 4 Jussmgg Your™ answer

L) s there

5. Su,ﬂ)ose, P Is Tr‘\'rne,; and Geld, 2, ---,'?-i%.
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Pact cor i NoT eosy - b is called Termat's litle ‘Hleorem.)
6. Fid xyeZ such that
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